

Pacific Journal of Mathematics

THE DIOPHANTINE EQUATION

$$u(u+1)(u+2)(u+3) = v(v+1)(v+2)$$

DAVID W. BOYD AND HERSHY KISILEVSKY

THE DIOPHANTINE EQUATION $u(u+1)(u+2)(u+3)$
 $=v(v+1)(v+2)$

DAVID W. BOYD AND H. H. KISILEVSKY

In this paper we demonstrate that the equation of the title has exactly three solutions in positive integers, namely: $1 \cdot 2 \cdot 3 \cdot 4 = 2 \cdot 3 \cdot 4$, $2 \cdot 3 \cdot 4 \cdot 5 = 4 \cdot 5 \cdot 6$ and $19 \cdot 20 \cdot 21 \cdot 22 = 55 \cdot 56 \cdot 57$. The method of proof is to reduce the equation to the form $y^2 = x^3 - x + 1$.

According to the studies of Mordell, this equation has only a finite number of solutions and each corresponds to a representation of unity by a binary quartic form. We thus can reduce the problem to a study of the solutions of two binary quartic forms. These forms can be regarded as the norms of certain units in an order \mathcal{O} of the field $Q(\alpha)$ where $\alpha^4 - 8\alpha + 4 = 0$. We next determine the two fundamental units of this order. Representing the units we seek in terms of these fundamental units, we obtain exponential equations which are then solved by the p -adic method of Th. Skolem.

This technique was used by Ljunggren [5] in treating the equations $y^2 = x^3 - 7$, and $y^2 = x^3 - 15$.

1. Define $y = u^2 + 3u + 1$ and $x = v + 1$, and then the equation of the title becomes

$$(1) \quad y^2 = x^2 - x + 1.$$

Mordell [6] shows that this has only a finite number of integer solutions. A recent result of Baker [2] shows that for all integer solutions of (1), one has

$$\max(|x|, |y|) < \exp(10^{6.106}).$$

We discuss in Section 5 a feasible computational approach to solving (1) which uses the results of §§ 2 and 3 and the method of Baker and Davenport [3].

2. We now reduce our problem to the study of two binary quartic forms. This reduction follows the paper [7] of Mordell in which he treats the problem $u(u+1)(u+2) = v(v+1)$. Consider (1) as an equation in the field $Q(\theta)$, where $\theta^3 - \theta + 1 = 0$. The discriminant of $x^3 - x + 1$ is -23 , and hence

- (a) $1, \theta, \theta^2$ is an integral basis (-23 is square free),
- (b) there is a single fundamental unit, which we may take to be

$-\theta$, according to Delone and Fadeev [4], p. 303,

(c) the class number of $\mathbf{Q}(\theta)$ is 1 ([4], p. 141).

We may now write (1) in the form

$$(2) \quad y^2 = (x - \theta)(x^2 + \theta x + \theta^2 - 1).$$

If π is a prime in $\mathbf{Q}(\theta)$ which divides both factors of (2), then $x \equiv \theta \pmod{\pi}$ hence $3\theta^2 - 1 \equiv 0 \pmod{\pi}$. However $N(3\theta^2 - 1) = +23$ so $3\theta^2 - 1$ is a prime, hence $3\theta^2 - 1$ is the only possible prime factor of $x - \theta$ and $x^2 + \theta x + \theta^2 - 1$. Thus, (2) together with (a), (b), (c) above implies that there are integers k, l, a, b, c such that

$$(3) \quad x - \theta = \pm(-\theta)^k(3\theta^2 - 1)^l(a + b\theta + c\theta^2)^2.$$

We may assume k and l are either 0 or 1 by absorbing extra factors of $-\theta$ and $(3\theta^2 - 1)$ into the squared term. Taking norms in (3) shows that, for some integer r ,

$$y^2 = N(x - \theta) = \pm(23)^l r^2.$$

This implies that $l = 0$ and that the $+$ sign should be used. Thus we have two cases

$$(4) \quad k = 0: \quad x - \theta = (a + b\theta + c\theta^2)^2$$

$$(5) \quad k = 1: \quad x - \theta = -\theta(a + b\theta + c\theta^2)^2.$$

In case $k = 0$, equation (4) becomes

$$x - \theta = (a^2 - 2bc) + (2ab + 2bc - c^2)\theta + (b^2 + 2ac + c^2)\theta^2$$

which gives the following three equations:

$$(6) \quad x = a^2 - 2bc$$

$$(7) \quad 0 = b^2 + 2ac + c^2$$

$$(8) \quad 1 = c^2 - 2ab - 2bc.$$

If $a + c \neq 0$, then (8) implies that $b = (c^2 - 1)/2(a + c)$, and substitution in (7) yields

$$(9) \quad 0 = (c^2 - 1)^2 + 4c(2a + c)(a + c)^2.$$

Equation (9) implies that $c|(c^2 - 1)^2$ so $c^2 = 1$, but then $2a + c = 0$ and this means $a = \pm 1/2$ which is inadmissible.

Hence, $a + c = 0$, and so $c^2 = 1$ from (8). Now using (7), we have $b^2 = c^2$, and hence $x = a^2 - 2bc = 1 \pm 2$, so

$$x = 3 \text{ or } -1$$

corresponding to

$$y = 5 \text{ or } 1.$$

The solution $x = -1$ is trivial in that it corresponds to $v(v+1)(v+2) = (-2)(-1)(0)$, while $x = 3$ leads to $(u, v) = (1, 2)$.

The case $k = 1$ leads to a more difficult situation. Here, we obtain from (5) the equations:

$$\begin{aligned} (10) \quad & x = b^2 + 2ac + c^2 \\ (11) \quad & 0 = c^2 - 2ab - 2bc \\ (12) \quad & 1 = a^2 - 2bc + b^2 + 2ac + c^2 . \end{aligned}$$

Let us define $a + c = d$ so that (10), (11) and (12) become

$$\begin{aligned} (13) \quad & x = b^2 + 2cd - c^2 \\ (14) \quad & 0 = c^2 - 2bd \\ (15) \quad & 1 = d^2 - 2bc + b^2 . \end{aligned}$$

Our first observation is that if (b, c, d) is a solution of (14) and (15) then so is $(-b, -c, -d)$ and these give the same value for x . Hence we may assume $b \geq 0$, say. Then (14) implies $d \geq 0$, and then (15) implies $c \geq 0$ since $d^2 + b^2 \geq 1$ for any solution of (15).

Now, (15) shows that $\text{g.c.d}(d, b) = 1$ and from (14), $2bd$ is a square so that one of d, b is a square and the other twice a square. Thus, there are relatively prime p and q with $(b, d) = (q^2, 2p^2)$ or else $(2q^2, p^2)$ giving again two cases to consider:

$$\begin{aligned} (16) \quad & (b, c, d) = (q^2, 2pq, 2p^2) \\ & 4p^4 - 4pq^3 + q^4 = 1, \quad x = q^4 + 8p^3q - 4p^2q^2 \\ (17) \quad & (b, c, d) = (2q^2, 2pq, p^2) \\ & p^4 - 8pq^3 + 4q^4 = 1, \quad x = 4q^4 + 4p^3q - 4p^2q^2 . \end{aligned}$$

By inspection, (16) has the solutions $(p, q) = (0, 1), (1, 1)$ giving

$$x = 1 \text{ or } 5 .$$

And, (17) has the solutions $(p, q) = (1, 0), (1, 2)$ giving

$$x = 0 \text{ or } 56 .$$

For our problem $x = 0$ and 1 are trivial cases, while $x = 5, 56$ give the two solutions $(u, v) = (2, 4), (19, 55)$ which were mentioned in the introduction.

The remainder of the paper is devoted to proving that we have found all solutions of (16) and (17).

To investigate (16), (17) completely we notice their connection with the field $\mathbf{Q}(\alpha)$ where $\alpha^4 - 8\alpha + 4 = 0$. Observe that in this field $\alpha^2/2 = \gamma$ is an integer since $\gamma^2 = 2\alpha - 1$, and also $2/\alpha = 4 - \alpha^3/2$ is an integer. Multiplying equation (16) by 4, and letting N denote the norm in $\mathbf{Q}(\alpha)$,

$$(18) \quad N(q\alpha - 2p) = 16p^4 - 16pq^3 + 4q^4 = 4$$

while equation (17) may be interpreted as

$$(19) \quad N(q\alpha - p) = p^4 - 8pq^3 + 4q^4 = 1.$$

We can simplify (18) by noticing that $(q\alpha - 2p)/\alpha = (q - 4p) + p(\alpha^3/2)$ is an integer, and since $N(\alpha) = 4$, we have from (18) that

$$(20) \quad N((q - 4p) + p\alpha^3/2) = 1.$$

Thus our problem reduces to finding all units in $\mathbf{Q}(\alpha)$ which are of one of the forms $r + s\alpha$ and $r + s(\alpha\eta)$. The units lie in the order $\mathcal{O} = \mathbf{Z}(1, \alpha, \eta, \alpha\eta)$, so our first problem is to determine the fundamental units for \mathcal{O} . There are two such units since α has two real and two complex conjugates. We mention in passing that \mathcal{O} is not the maximal order in $\mathbf{Q}(\alpha)$. This can be shown to be $\mathbf{Z}(1, \beta, \beta^2, \beta^3)$, where $\beta = -1 + \alpha/2 + \alpha^3/4$. (Note that $\beta^2 = \alpha$). The field discriminant is thus $-64 \cdot 23$, and one can verify that the class number of $\mathbf{Q}(\alpha)$ is 1.

3. We shall show in this section that $\eta = \alpha^2/2$ and $\zeta = \alpha - \eta$ are fundamental units in the order $\mathcal{O} = \mathbf{Z}(1, \alpha, \eta, \alpha\eta)$. For this purpose we need the following numerical data for the conjugates of α , η and ζ :

$$\begin{aligned} \alpha_1 &= .508347 \\ \alpha_2 &= 1.793580 \\ \alpha_{3,4} &= -1.150964 \pm i(1.749969) \\ |\alpha_{3,4}| &= 2.094543. \end{aligned}$$

Thus

$$\begin{aligned} \eta_1 &= .129209 & \zeta_1 &= .379139 \\ \eta_2 &= 1.608465 & \zeta_2 &= .185115 \\ |\eta_{3,4}| &= 2.193555 & |\zeta_{3,4}| &= 3.774679. \end{aligned}$$

It is clear from this data that ζ and η are independent units since if $\eta^m = \zeta^n$ for nonzero m and n , we would have $\eta_1^m = \zeta_1^n$ and $\eta_2^m = \zeta_2^n$ which are inconsistent since $0 < \eta_1, \zeta_1, \zeta_2 < 1$ while $\eta_2 > 1$. To proceed further, we use the following lemma:

LEMMA. *Let $\mathbf{Q}(\alpha)$ be an algebraic number field, where α has s real and $2t$ complex conjugates. Let $\omega_1, \dots, \omega_n$ be linearly independent integers in $\mathbf{Q}(\alpha)$. Let $\omega_j^{(i)}$ denote the i th conjugate of ω_j , and let $A = (\omega_j^{(i)}: 1 \leq i, j \leq n)$. Write $A^{-1} = (\nu_i^{(j)}: 1 \leq i, j \leq n)$. Sup-*

pose that $r = s + t - 1$ and that η_1, \dots, η_r are independent units in the order $\mathcal{O} = \mathbf{Z}(\omega_1, \dots, \omega_n)$. Write

$$e_{ik} = \sum_j (|v_i^{(j)}| |\eta_k^{(j)}|^{r/2}: j = 1, \dots, n) \text{ for } k = 1, 2, \dots, r; i = 1, \dots, n$$

and

$$e_{i,r+1} = \sum(|\nu_i^{(j)}|: j = 1, \dots, n), \text{ for } 1, \dots, n.$$

If $\eta_1 \cdots \eta_r$ are not fundamental units in \mathcal{O} , then there is a unit μ in \mathcal{O} different from η_1, \dots, η_r , with $\mu = \sum_i a_i \omega_i$, $a_i \in \mathbf{Z}$, and

$$(21) \quad |a_i| \leq \max(e_{i1}, \dots, e_{i,r+1}) \text{ for } i = 1, \dots, n.$$

Proof. If η_1, \dots, η_r are not fundamental then there is a unit μ and rational numbers c_1, \dots, c_r with $0 \leq c_i$ for all i and $\sum_{i=1}^r c_i \leq r/2$, such that

$$(22) \quad \mu = \eta_1^{c_1} \cdots \eta_r^{c_r}.$$

Define $b_i = 2c_i/r$ so that $b_1 + \dots + b_r \leq 1$.

Let $b_{r+n} = 1 - b_1 - \dots - b_r$ and let $\eta_{r+1} = 1$.

From (22), if $\mu = a_1 \omega_1 + \dots + a_n \omega_n$, we obtain

$$\begin{aligned} |a_i| &= \left| \sum_j \nu_i^{(j)} \mu^{(j)} \right| \\ &\leq \sum_j |\nu_i^{(j)}| (\eta_1^{(j)})^{c_1} \cdots (\eta_{r+1}^{(j)})^{c_{r+1}} \\ &\leq e_{i1}^{b_1} \cdots e_{i,r+1}^{b_{r+1}} \end{aligned}$$

using Hölder's inequality.

To obtain (21), we estimate the products by

$$|a_i| \leq e_{i1}^{b_1} \cdots e_{i,r+1}^{b_{r+1}} \leq \max(e_{i1}, \dots, e_{i,r+1}).$$

The matrix A in our case has i th row $(1, \alpha_i, \eta_i, \alpha_i \eta_i)$. To obtain A^{-1} , we regard $(1, \alpha_i, \alpha_i^2, \alpha_i^3)$ as a left eigenvector of the companion matrix of $x^4 - 8x + 4$ for the eigenvalue α_i . A right eigenvector for α_i is easily seen to be $(-4, \alpha_i^3, \alpha_i^2, \alpha_i)^T$. Hence A^{-1} has j th column $8^{-1}(3\alpha_j - 2)^{-1}(-4, \alpha_j^3, 2\alpha_j^2, 2\alpha_j)^T$. Write W as the 4×3 matrix whose first and second columns are the absolute values of the corresponding columns of A^{-1} and whose third column is the sum of the absolute values of the third and fourth columns of A^{-1} . Then we have approximately:

$$W = \begin{pmatrix} 1.0527 & .1479 & .1321 \\ .0346 & .2133 & .3035 \\ .1360 & .2379 & .2898 \\ .2676 & .1326 & .1384 \end{pmatrix} = (w(i, j)).$$

If $e(i) = \Sigma(w(i, j)|\eta_j|: j = 1, 2, 3)$, $z(i) = \Sigma(w(i, j)|\zeta_j|: j = 1, 2, 3)$, and $w(i) = \Sigma(w(i, j): j = 1, 2, 3)$ we have

$$\begin{aligned} e &= (.6637, 1.0133, 1.0359, .5514) \\ z &= (.9252, 1.1982, 1.1895, .6483) \\ w &= (1.3327, .5514, .6637, .5386) . \end{aligned}$$

From equation (22) of our lemma, there is a unit $\mu = a + b\alpha + c\eta + d\alpha\eta$ with

$$|a| \leq 1, |b| \leq 1, |c| \leq 1, d = 0 .$$

It is now easy to check that these 27 possibilities give no new units. (The computation is lessened by noticing that we must have $0 < \mu_1 < 1$ and $0 < \mu_2$).

4. In this section we solve equations (18) and (20) by an application of 2-adic analysis, as in [8] and [5].

We have shown in 3 that $\eta = \alpha^2/2$ and $\zeta = \alpha - \eta$ are fundamental units in $\mathcal{O} = \mathbf{Z}(1, \alpha, \eta, \alpha\eta)$. According to equations (18) and (20), we wish to determine all units in \mathcal{O} of either of the two forms $r + s\alpha$ or $r + s(\alpha\eta)$, $r, s \in \mathbf{Z}$. We treat first $r + s\alpha$. For any such unit there are integers m, n such that

$$(23) \quad \pm (r + s\alpha) = \eta^m \zeta^n .$$

We will examine (23) modulo 2^k for all k . First observe that

$$\eta^2 = -1 + 2\alpha$$

and

$$\zeta^2 = -1 + 2\alpha + \alpha^2 - \alpha^3 = -1 + 2\omega$$

where

$$\omega = \alpha + \eta - \alpha\eta \in \mathcal{O} .$$

Treating (23) modulo 2, if $m = 2u + b$, $n = 2v + c$, $b, c \in \{0, 1\}$, then

$$\pm (r + s\alpha) = (1 - 2\alpha)^u (1 - 2\omega)^v \eta^b \zeta^c \equiv \eta^b \zeta^c .$$

Clearly $(b, c) = (1, 0), (0, 1)$ are not possible, and we rule out $(1, 1)$ by noticing that

$$\eta\zeta = \eta\alpha - \eta^2 = -1 + 2\alpha - \eta\alpha \equiv 1 + \eta\alpha .$$

Thus $(b, c) = (0, 0)$ is the only possibility. Now, proceeding modulo 4 we write $u = 2w + e$, $v = 2z + f$ with $e, f \in \{0, 1\}$. Then

$$(1 - 2\alpha)^{2w+e} (1 - 2\omega)^{2z+f} \equiv (1 - 2\alpha)^e (1 - 2\omega)^f \pmod{4} .$$

Treating the four cases for (e, f) we conclude that only $(e, f) = (0, 0)$ and $(1, 0)$ are possible.

First consider $(e, f) = (0, 0)$.

For any $k \geq 1$

$$\begin{aligned} (1 - 2\alpha)^{2^k} &= 1 - 2^{k+1}\alpha - 2^{k+2}\eta + O(2^{k+3}) \\ (1 - 2\omega)^{2^k} &= 1 - 2^{k+1}(1 + \alpha + \eta + \alpha\eta) + O(2^{k+3}). \end{aligned}$$

If $(u, v) \neq (0, 0)$, then $u = 2^k x$, $v = 2^k y$ with one of x and y odd, and $k \geq 1$. Then

$$(24) \quad \begin{aligned} (1 - 2\alpha)^{2^k x} (1 - 2\omega)^{2^k y} &= 1 - 2^{k+1}(x\alpha + y + y\alpha + x\eta + y\alpha\eta) \\ &\quad - 2^{k+2}(x\eta) + O(2^{k+3}). \end{aligned}$$

Equating the coefficient of η and $\alpha\eta$ in (24) to zero we have

$$(25) \quad 0 = y + 2x + O(2^2)$$

$$(26) \quad 0 = y + O(2^2).$$

Subtracting gives

$$(27) \quad 0 = x + O(2).$$

Hence (26) and (27) imply x and y are even, a contradiction, and thus $(u, v) = (0, 0)$.

Now consider $(e, f) = (1, 0)$. Unless $(u, v) = (1, 0)$ we have $(u, v) = (2^k x + 1, 2^k y)$ with one of x and y odd. Then

$$(28) \quad \begin{aligned} (1 - 2\alpha)^u (1 - 2\omega)^v &= 1 - 2\alpha - 2^{k+1}(x\alpha + y + y\alpha + y\eta + y\alpha\eta) \\ &\quad - 2^{k+2}(x\eta - y\alpha - y\alpha\eta) + O(2^{k+3}). \end{aligned}$$

Equating coefficients of η and $\alpha\eta$ to zero, we have

$$(29) \quad 0 = y + 2x + O(2^2)$$

$$(30) \quad 0 = y + O(2^2).$$

Equation (30) implies $y = O(2^2)$ and then (29) implies $x = O(2)$, a contradiction. Hence $(u, v) = (1, 0)$.

Now we turn from equation (19) to equation (20) and seek units of the form $r + s\alpha\eta$.

We first examine $\eta^m \zeta^n = \pm (r + s\alpha\eta)$ modulo 2, and find that $(m, n) \equiv (0, 0)$ or $(1, 1) \pmod{2}$. Treating $(m, n) \equiv (0, 0)$ first, we may write $m = 2u$, $n = 2v$ and then, working modulo 4,

$$\begin{aligned} \eta^{2u} \zeta^{2v} &\equiv (1 - 2\alpha)^u (1 - 2\omega)^v \\ &\equiv (1 - 2u\alpha)(1 - 2v\omega) \equiv 1 - 2u\alpha - 2v(\alpha + \eta - 2\eta) \pmod{4}. \end{aligned}$$

Equating coefficients of η and α to zero shows first that v is even.

then that u is even. Thus, if $(u, v) \neq (0, 0)$ we may write $u = 2^k x$, $v = 2^k y$ where $k \geq 1$ and x, y are odd. Then we wish to solve

$$(31) \quad \pm (r + s\alpha\eta) = (1 - 2\alpha)^{2^k x} (1 - 2\omega)^{2^k y}.$$

Using (24), we find that

$$(32) \quad 0 = x + y + O(2^2)$$

$$(33) \quad 0 = y + 2x + O(2^2).$$

Equation (33) shows y is even and (32) shows x is even, a contradiction; hence $(u, v) = (0, 0)$.

For the final case we have $(m, n) \equiv (1, 1) \pmod{2}$, hence we may write $m = 2u - 1$, $n = 2v + 1$. We observe that $\eta^{-1}\zeta = 2/\alpha - 1 = 3 - \alpha\eta$. We wish to solve

$$\pm (r + s\alpha\eta) = \eta^{2u}\zeta^{2v}\eta^{-1}\zeta$$

which becomes, modulo 4,

$$\begin{aligned} \pm (r + s\alpha\eta) &\equiv (1 - 2\alpha)^u (1 - 2\omega)^v (3 - \alpha\eta) \pmod{4} \\ &\equiv -1 - \alpha\eta + 2u\alpha + 2v(\eta - \alpha\eta) \pmod{4}. \end{aligned}$$

This implies that u and v are even. Thus, if $(u, v) \neq (0, 0)$ then $u = 2^k x$, $v = 2^k y$ with $k \geq 1$ and one of x, y odd. Then

$$\begin{aligned} \pm (r + s\alpha\eta) &= (1 - 2\alpha)^{2^k x} (1 - 2\omega)^{2^k y} (3 - \alpha\eta) \\ &= 3 - \alpha\eta - 2^{k+1}(x\alpha + y + y\eta) + O(2^{k+2}) \end{aligned}$$

which gives

$$(29) \quad 0 = x + O(2)$$

$$(30) \quad 0 = y + O(2).$$

This implies x and y are even, a contradiction. Hence $(u, v) = (0, 0)$ and $(m, n) = (-1, 1)$.

This completes the verification that the only solutions of (16) and (17) are the ones obtained by inspection. Thus the only solutions of the equation of the title are those listed in the introduction.

5. Rather than using the 2-adic method of §4, one may reduce the equation $\eta^m \zeta^n = \pm (r + s\alpha)$ or $\pm (r + s\alpha\eta)$ to an inequality in linear forms of logarithms of algebraic numbers. If A^{-1} is as in §3, if η_i, ζ_i denote the conjugates of η and ζ , and if $\gamma = \eta^m \zeta^n = a + b\alpha + c\eta + d\alpha\eta$ is a unit, then

$$(a, b, c, d)^T = A^{-1}(\eta_1^m \zeta_1^n, \dots, \eta_4^m \zeta_4^n)^T.$$

Equating c and d to zero gives two pairs of equations from which the

term $\eta_4^m \zeta_4^n$ can be eliminated to give

$$\sum_{j=1}^3 \alpha_j (\alpha_j - \alpha_4) (3\alpha_j - 2)^{-1} \eta_3^m \zeta_j^n = 0.$$

Equating b and c to zero gives a similar equation. One can show, by consideration of the size of the various quantities η_j, ζ_j that m and n must be of opposite signs. Again considering the relative sizes of the η_j and ζ_j we obtain four inequalities:

$$|m \log(\eta_1 \eta_2^2) - n \log(\zeta_1 \zeta_2^2) - \log \beta^{(k)}| < (2.9)e^{-m(2.63)}$$

and

$$|m \log(\eta_1^2 \eta_2) - n \log(\zeta_1^2 \zeta_2) - \log \gamma^{(k)}| < 5e^{-m(2.63)}$$

where $\beta^{(k)}, \gamma^{(k)}, k = 1, 2$ are in $\mathbf{Q}(\alpha)$.

From a result of Baker [1], one can then show that $\max(|m|, |n|) < 10^{843}$. The method used in Baker and Davenport [3] can then be applied and one would expect the problem to be computationally feasible.

REMARK. We should perhaps note that we have in fact found all solutions of the equation $k(k+2) = l(l+1)(l+2)$ in positive integers, and these are $4 \cdot 6 = 2 \cdot 3 \cdot 4$, $10 \cdot 12 = 4 \cdot 5 \cdot 6$ and $418 \cdot 420 = 55 \cdot 56 \cdot 57$. This is clear since from the beginning we dealt with the equation $(y-1)(y+1) = (x-1)x(x+1)$.

Another equation which can be reduced to this is the following: $m(m+1) = n(n+1)(2n+1) (= 6(1^2 + 2^2 + \dots + n^2))$, for if n is a solution of this equation, let $l = 2n, k = 2m$ and then $k(k+2) = l(l+1)(l+2)$. The only even solutions for l are $l = 2$ and $l = 4$ so the only solutions of the equation for m and n are $2 \cdot 3 = 1 \cdot 2 \cdot 3$, and $5 \cdot 6 = 2 \cdot 3 \cdot 5$.

Acknowledgement. We are indebted to John McKay for suggesting this problem and for many helpful discussions during its solution. He points out that $N = 19 \cdot 20 \cdot 21 \cdot 22 = 55 \cdot 56 \cdot 57$ is the order of a sporadic simple group.

REFERENCES

1. A. Baker, *Linear forms in the logarithms of algebraic numbers, IV*, *Mathematika*, **15** (1968), 204-216.
2. ———, *The diophantine equation $y^2 = ax^3 + bx^2 + cx + d$* , *J. London Math. Soc.*, **43** (1968), 1-9.
3. A. Baker and H. Davenport, *The equations $3x^2 - 2 = y^2$, and $8x^2 - 7 = z^2$* , *Quart. J. Math.*, (2) **20** (1969), 129-137.
4. B. N. Delone and D. K. Fadeev, *The theory of irrationalities of the third degree*, *Amer. Math. Soc., Translations of Math. Monographs*, Vol. **10** (1964).

5. W. Ljunggren, *On the diophantine equation $y^2 - k = x^3$* , Acta Arithmetica **13** (1963), 451-463.
6. L. J. Mordell, *Note on the integer solutions of $Ey^2 = Ax^3 + Bx^2 + Cx + D$* , Mess. of Math., **51** (1922), 169-171.
7. ———, *On the integer solutions of $y(y + 1) = x(x + 1)(x + 2)$* , Pacific J. Math., **13** (1963), 1347-1351.
8. Th. Skolem, *Ein Verfahren zur Behandlung gewisser exponentialer Gleichungen und diophantischer Gleichungen*, 8^{de} Skand. Mat. Kongress, Stockholm (1934), 163-188.

Received May 11, 1970. The first author was supported in part by NSF Grant GP-14133.

CALIFORNIA INSTITUTE OF TECHNOLOGY

PACIFIC JOURNAL OF MATHEMATICS

EDITORS

H. SAMELSON
Stanford University
Stanford, California 94305

J. DUGUNDJI
Department of Mathematics
University of Southern California
Los Angeles, California 90007

C. R. HOBBY
University of Washington
Seattle, Washington 98105

RICHARD ARENS
University of California
Los Angeles, California 90024

ASSOCIATE EDITORS

E. F. BECKENBACH

B. H. NEUMANN

F. WOLF

K. YOSHIDA

SUPPORTING INSTITUTIONS

UNIVERSITY OF BRITISH COLUMBIA
CALIFORNIA INSTITUTE OF TECHNOLOGY
UNIVERSITY OF CALIFORNIA
MONTANA STATE UNIVERSITY
UNIVERSITY OF NEVADA
NEW MEXICO STATE UNIVERSITY
OREGON STATE UNIVERSITY
UNIVERSITY OF OREGON
OSAKA UNIVERSITY

UNIVERSITY OF SOUTHERN CALIFORNIA
STANFORD UNIVERSITY
UNIVERSITY OF TOKYO
UNIVERSITY OF UTAH
WASHINGTON STATE UNIVERSITY
UNIVERSITY OF WASHINGTON
* * *
AMERICAN MATHEMATICAL SOCIETY
NAVAL WEAPONS CENTER

Pacific Journal of Mathematics

Vol. 40, No. 1

September, 1972

Alex Bacopoulos and Athanassios G. Kartsatos, <i>On polynomials approximating the solutions of nonlinear differential equations</i>	1
Monte Boisen and Max Dean Larsen, <i>Prüfer and valuation rings with zero divisors</i>	7
James J. Bowe, <i>Neat homomorphisms</i>	13
David W. Boyd and Hershy Kisilevsky, <i>The Diophantine equation $u(u + 1)(u + 2)(u + 3) = v(v + 1)(v + 2)$</i>	23
George Ulrich Brauer, <i>Summability and Fourier analysis</i>	33
Robin B. S. Brooks, <i>On removing coincidences of two maps when only one, rather than both, of them may be deformed by a homotopy</i>	45
Frank Castagna and Geert Caleb Ernst Prins, <i>Every generalized Petersen graph has a Tait coloring</i>	53
Micheal Neal Dyer, <i>Rational homology and Whitehead products</i>	59
John Fuelberth and Mark Lawrence Teply, <i>The singular submodule of a finitely generated module splits off</i>	73
Robert Gold, <i>Γ-extensions of imaginary quadratic fields</i>	83
Myron Goldberg and John W. Moon, <i>Cycles in k-strong tournaments</i>	89
Darald Joe Hartfiel and J. W. Spellmann, <i>Diagonal similarity of irreducible matrices to row stochastic matrices</i>	97
Wayland M. Hubbart, <i>Some results on blocks over local fields</i>	101
Alan Loeb Kostinsky, <i>Projective lattices and bounded homomorphisms</i>	111
Kenneth O. Leland, <i>Maximum modulus theorems for algebras of operator valued functions</i>	121
Jerome Irving Malitz and William Nelson Reinhardt, <i>Maximal models in the language with quantifier "there exist uncountably many"</i>	139
John Douglas Moore, <i>Isometric immersions of space forms in space forms</i>	157
Ronald C. Mullin and Ralph Gordon Stanton, <i>A map-theoretic approach to Davenport-Schinzel sequences</i>	167
Chull Park, <i>On Fredholm transformations in Yeh-Wiener space</i>	173
Stanley Poreda, <i>Complex Chebyshev alterations</i>	197
Ray C. Shiflett, <i>Extreme Markov operators and the orbits of Ryff</i>	201
Robert L. Snider, <i>Lattices of radicals</i>	207
Ralph Richard Summerhill, <i>Unknotting cones in the topological category</i>	221
Charles Irvin Vinsonhaler, <i>A note on two generalizations of QF - 3</i>	229
William Patterson Wardlaw, <i>Defining relations for certain integrally parameterized Chevalley groups</i>	235
William Jennings Wickless, <i>Abelian groups which admit only nilpotent multiplications</i>	251